AHE AUVSX oUT IN GROSS  HDCP NET

e B Bl H—ES 38| 36 74 8.0] 66.0
il LB iy 363 12 6.0 66.0
=N T 3839 71 8.0 69.0
Ay KB OERE 45 35 | 80 10.0/ 70.0
- b R A 3935, | 74 3.0 T71.0
6L TRE TEA 3636 | 720 1.0 71.0
L EE = 4142 | 83 12.0 71.0
8 =Kk RA 38| 42 80 9.0 71.0
O ® EH 3835, | 73 1.0 72.0
104 K¥ #FF 39| 42 81 9.0 72.0
114 FEWL —= 35380 | 13 1.0 72.0
1260 2B S | 41] 37 78 5.0 73.0
1360 /MR AR 44/ 41 | 85 12.0 73.0
14 |52+ =2 40| 38 78 5.0 73.0
15 #3% HE 41040 | 81 8.0 73.0




A BYSR ouT  IN GROSS  HDCP NET

2 B ™M =EBF 40 41 81 14.0 67.0
LB NMRHA L1 457 101 34.0 67.0
ML B EXk 442 84 16.0 68.0
M B FE= 46 45 91 22.0 69.0
bsL /] 2 47 4 88/ 18.0 70.0
ofii ML 5 42! M1 83 13.0 70.0
L BAK Z 14444 88 18.0/ 70.0
86 #Fx= FRA 41 44 | 85 15.0/ 70.0
OiL MNgE EH 146 39 8o 14.0 /1.0
1052 HF  ZF# 42 49 91 20.0 71.0
[REAEA E 974 39| 49 88 16.0/ 72.0
1260 | K A4 47 411 | 88 15.0 73.0
1360 Bk K2 52/ 530 105] 32.0 73.0
1441 niE BF 43| 46 89/ 16.0 73.0
156 = FH 45 87 14.0 73.0




AHHF LT14—RXADE ouT IN GROSS  HDCP NET

2 B BH XX 40 34 14 3.0 66.0
B EcKRK BE 0 (37138 15 9.0 66.0
3L iR XARF 3737 14 1.0 6/.0
Mi EEH EF 50 511 101 34.0 6/.0
ofii FHFTF M 43 79 10.0 69.0
6 RIS EiF 49 41 90 19.0 71.0
i BAR IE=E 47 41 88 1/.0 71.0
8fii fHE <<HBY 46 41 | 87 14.0 73.0
Oz 2B =T 3939 | 78 5.0 73.0
10 3= F 39 40 79 6.0 73.0
1 X8 &BY 123 | 80 6.0 74.0
1260 A fEE 393 | 18 4.0 74.0
130 | 7K3 = 48 41 89 14.0 75.0
1461 dlE BT 1345 88 13.0 75.0
156 [$8K EBRF 4949 | 98 22.0 76.0




